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(1) Amy has 12 good cards and 8 bad cards. After the bad cards offset the good cards, what kind
of cards does Amy have? How many cards does Amy have?

(2) If we use “+1” to express “1 good card”, and “—1” to express “1 bad card”. How can |
express the “12 good cards and 8 bad cards”?

_I_ —
12 good cards 8 bad cards 4 good cards
. Sentence Pattern:

plus equals

Example:
plus equals
Example 1. (—7)+3="? Example 2. (—3)+( —5)=?
plus equals . plus equals

Exercise 1. 7+8=7? Exercise 2. 7+ (—8)="?
Exercise 3. (—7)+8="? Exercise 4. (—7)+( —8)=?




4

Example. 23 +(—57)="?

Exercise 1. (—8)+(—61)="?

Exercise 2. (—17)+32="?

Exercis 3. 18+(—51)=2

5

Example. 5+(—8)+11="?

Exercise. (—57)+(—9)+21="?

6. The table below shows the gain or loss in recent transactions( % % ) of a shop on three different

days.

Date

12/09

12/10 12/11

Gain / loss

—120

+500 —310

Find the overall gain(F# ) or loss(F&) made by the shop in these three days.
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I ¥ positive number
ok negative number
e plus
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+3 positive three
—7 negative seven
24+(—3)=—1 Two plus negative three equals negative one.
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“Good card” . & L7 4F el § ¢ 44 448+ o Wecallit “bad card” . One good card and

! one bad card offset each other. 4p 7 %4V - » ,Tk‘{;:u s drde e — EIREE fo— RELF %
— e A BT S
Amy has 12 good cards and 8 bad cards. After the bad cards offset the good cards, how
many cards does Amy have? We can use a drawing (or a diagram) to solve this problem. Let’s
5 use a green circle for a good card and a red circle for a bad card. Amy has 12 good cards, so we

can draw 12 blue circles here. Amy also has 8 bad cards, so we will draw 8 red circles here.
After offsets, how many cards (and what kind) are there? Four good cards. 12 5& i 2L+ {r 8 3
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12 good cards+ 8 bad cards = 4 good cards.
3 BT ORAPF I ofefo f ok & o7 iBEEF frdk B+ o 12 good cards can be written as
positive 12. 8 bad cards can be written as negative 8. 4 good cards can be written as positive 4.
So, we have “(+12)+(—8)=(+4)”. The positive symbol can be omitted. We can write as “12
H(—=8)=4”. #rru NP arig 124 F —8 F3 4.
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